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Assignment - 2020
B. Com. Part 1
Subject —Business Mathematics
Paper— Il
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Attempt all the five guestions. One guestion from each Unit is
compulsory.
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Salve the following eguations by graph :
2n+y = L]
A+ 2y = b
(F) =1 dsll W W 150 | Ee S e A el St & o e A 450 & )
T, A hifa |
Tha =um of two numbers is 150 The doubée of the first number and five tima of
the second numbar make 450, Find the numbars,
wigEy OR
(a4} TeY S T 7 3 AEed T d TRl W =i s | i e e
) S H e R |
Withal is Linsar Programming 7 Explain s importancadmearifs and
characienstics. Give classification also of the linear programming problems.
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Salva the following fnear programming prablem graphicael method
Maximize z'= 20w, + 25x,

s Such that: x,=32
Ny =8
Ay + oty < A%
Hy By =0
UNIT - 2
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Find the value of determenants
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What do you undersiand by Mafrix 7 Descrhibe the types of matrices.
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Write the meaning & definftion of logarithms.

UNIT - 3
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A cartain sum at simple interest becomes R, 1,200 in 2 yéars and Rs. 1,300
in 3 years. Find the principal and rate of interest per annum,
ae e warsy Foredl = 550, 496 el smare sura €1 51 31 5608 81 )
Find the time in which Rs.550 will amount o Rs.605 at 4% per annum simpie
interast,
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The compound interest on & certain sum for Z years is Rs.4 1 and simple interest
is Rs.40. The annual rate of interestis the same In both circumstances, What
is the rate of interest and the principal 7
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A merchant borrows Rs.4,800 @ 6% simple interest and invests at T14%
compound interest. Hthe transaction is closed at the end of threa years, whal s
his gain ?
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The last three tefms of a proportion are 2, 3 and B What is the first term 7
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In & factory & workers, working -eight hours a day, manufacture 4 Gates in 20

days. 1 Sworkass work lan hours a day, in how many days will they manulacture
6 Gates 7
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O the four numbers the average of the first three i 30 and of the last thrae is
32, Wthe last number js 38, find the frst number,
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Distinguish betwean the ratio and proportion,
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What do vou understand by “Commigsion’ 7 lllustrate with example,
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A dealer sells two cycles at a price of Ris. 518 each. In this transaction he

earns a profit of 12% one cycle and suffere a loss of 12% on the ather.
What is the profit or loss on the whole and what parcent 7

@fgar OR
FATAT H AT A &7 T Hiva A |
What do you understand by ‘Brokerage” 7 llustrate with example.
Ok e AT A 150 &, 3 A= VA1 & ) afg A g 136 5 @ A= Al & Ao
farerem amat gam wn ht 50% o S, &1 9 = F e T |
An article is sold for Rs.150 at a gain. Had it been sold for Rs.135 there

wiguld heve been a loss equal to 50% of the onginal gain. Find the cost
price of the article.
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